
What is  

1
1

2
× (−18.80) 

 

What is the decimal equivalent of 
଼

ଵହ
? 

 

A. 0.53 

B. 0.53ത 

C. 0. 53തതതത 

D. 0.533 

Katie bought 5 sweaters that each cost the same 

amount and 1 skirt that cost $25.  The items she 
bought cost a total of $225 before tax was added.  
What was the cost of each sweater? 

A. $20 

B.  $35 

C. $40 

D. $45 

 

A museum employee surveys a random sample of 

350 visitors to the museum.  Of those visitors, 266 
stopped at the gift shop.  Based on these results, 

about how many people out of 2,300 visitors to the 
museum would be expected to stop at the gift shop? 

 

 



What is the value of ቀ−
ଵ

ସ
−

ଵ

ଶ
ቁ ÷ ቀ−

ସ

଻
ቁ? 

A. −1
ହ

ଵ଺
 

B. −
ଷ

଻
 

C. 
ଷ

଻
 

D. 1
ହ

ଵ଺
 

 

Convert 
ଷ

ଵଵ
 to a decimal equivalent using long 

division. 

 

A spinner is divided into four colored sections that 
are not of equal size: red, blue, purple and orange.  
The arrow is spun. 
 
 

 
 
 
 
The arrow on the spinner will be spun again.  Based 
on these results, what is the probability that the 

arrow will land on the purple section? 
 

A. 
ଵ

ସ
 B. 

ଵ

ହ
 

C. 
ଵ

଺
 D. 

ଵ

ଵଶ
 

Harper has $15.00 to spend at the grocery store.  

She is going to buy bags of fruit that cost $4.75 each 
and one box of crackers that costs $3.50. 

Write and solve an inequality that models this 
situation and could be used to determine the 

maximum number of bags of fruit, 𝑏, Harper can 
buy. 

 

 



A recipe requires 
ଵ

ଷ
 cup of milk for each 

ଵ

ସ
 cup of 

water.  How many cups of water are needed for each 
cup of milk? 

A. 
ଵ

ଵଶ
 

B. 
ଷ

ସ
 

C. 
ଵଵ

ଵଶ
 

D. 1
ଵ

ଷ
 

 

What is 8
଻

ଵଶ
× 3 + 17

ଷ

ସ
? 

 

A. 25
ଷ

ସ
 

B. 26
ଵ

ସ
 

C. 42
ଵ

ସ
 

D. 43
ଵ

ଶ
 

The ratio of boys to girls in Mr. Johnson’s after-
school club is the same as the ratio of boys to girls 

in Ms. Greene’s after-school club.  There are 4 boys 

and 12 girls in Mr. Johnson’s club.  There are 6 
boys in Ms. Greene’s club.  How many girls are in 
Ms. Greene’s club? 

A. 2 

B. 12 

C. 14 

D. 18 

 

Leah wants to save money on a new computer.  At 
the store near her, the computer she wants is listed 

at a regular price of $400.00. 

 On Saturday, the store will have a sale and 

discount the computer 30% 

 Shoppers who buy a computer that same 

Saturday before 9: 00 a.m. will also receive an 

additional 10% off the sale price 
How much will Leah pay, without tax, when she 

buys the computer that Saturday before 9: 00 a.m.? 
A. $148.00 

 
B. $160.00 

 
C. $240.00 

 

D. $252.00 

 



Graham’s monthly bank statement showed the 
following deposits and withdrawls: 

−$25.20,   $52.75,   − $22.04,   − $8.50,        $94.11 

If Graham’s balance in the account was $47.86 at 
the beginning of the month, what was the account 
balance at the end of the month? 

 

Evaluate.  

൬−
7

10
+ 0.15൰ ÷ (−0.125) 

A. −6.8 

B. −4.4 

C. 4.4 

D. 6.8 
 

Ben earns $9 per hour and $6 for each delivery he 

makes.  He wants to earn more than $155 in an 8-
hour workday.  What is the least number of 

deliveries he must make to reach his goal? 

A. 11 

B. 12 

C. 13 

D. 14 
 

The regular price of an item at a store is 𝑝 dollars.  
The item is on sale for 20% off the regular price.  
Some of the expressions shown below represent the 
sale price, in dollars, of the item. 
    Expression A: 0.2𝑝 
    Expression B: 0.8𝑝 
    Expression C: 1 − 0.2𝑝 
    Expression D: 𝑝 − 0.2𝑝 
    Expression E: 𝑝 − 0.8𝑝 
Which two expressions each represent the sale price 
of the item? 
A. Expression A and Expression E 

 
B. Expression B and Expression C 

 
C. Expression B and Expression D 

 
D. Expression C and Expression D 

 
 

 



Sara is playing a board game.  The probability 
that Sara will score a point on her next turn is 
ଵ

ଷ
.  Which statement describes the probability 

that Sara will score a point on her next turn? 

A. Likely 

B. Certain 

C. Unlikely 

D. Impossible 
 

Last week, the price of apples at a grocery store 
was $1.60 per pound.  This week, apples at the 
same grocery store are on sale at a 10% 

discount.  What is the total price of 4
ଵ

ଶ
 pounds 

of apples this week? 

A. $4.77 

B. $6.48 

C. $6.75 

D. $6.93 
 

An object travels along a horizontal straight 

path at a constant rate.  The object travels 
ଵ

ଶ଴
 of 

the length of the path in 
ଷ

ସ
 second.  At that rate, 

how many seconds does it take the object to 
travel the entire length of the path? 
 
A. 15 

B. 15
ଷ

ସ
 

C. 20 

D. 20
ଷ

ସ
 

 

A store sold 650 bicycles last year.  This year 
the store sold 572 bicycles.  What is the 
percent decrease in the number of bicycles sold 
from last year to this year? 

A. 12% 

B. 14% 

C. 78% 

D. 88% 
 

 


